Esi\wwul“/w’\

Ug) V\a a\a‘m\ 40 apffax»’mck‘}‘e Some fh(e/

number

_.E,X'- @shvnq_hmj Hhe Efpe—d'“@c) value (rnoam)

o(: A W’\falr coin

Suppose ve have an W’\Fd“ coln

Talle
xezo,gn, X~ B = Bernoulll ()

Pl)=o peo) = | - oL

IF[K] = 2 Xp)=0(1-8) +1 () = 4
KE70,13

\,\/[/la(‘ 183 we c‘aw\'} knod F[xj

how do we es'}lmo\l'c. \}7

F[Jp the coin n times and use Fhut



Lx')xl
) e Xv\) € ;03'1}“

Xi~ P, =
v Py = Bernoulli ()
O\V\J "Ad(
P€4dm+
far all ié?ll,.,) N

=X = a(X, .. Xo Xit X
3 ey ): t ot + Xy n
" = 125‘-!)('

F[&n] = EL%,\ (K +-eetd x,,)l
= L(gld -t E[%))

=1L (2
(2 EIx)) = Elx)=



n=5  x=\$
€KPeN Wcﬂ+5
N
#Y +
X A

1 ) X
AT )Q< ®olg %
*| T )( [ &s &

: ! i : = .‘ -

0 5/5 \4/5 l

Var [&n] e Var LR+ ~-+¥n)]

A o Var [ Ko +Xo)
\V\Aqw" enwce A
' \?: ln't ‘Z;‘Var LY ]

de 'C’a:é,

yproaleb= L %vor[x.] - Lyaclx]

as Wwn lncreases the var)ance 3065 down



central |imlt {heorem

R~ MFLR] verl22])

P;\‘ oo 0

0( _|- Vo’/‘[ x]
n
O\eusq l‘j




Eﬁ”"“’“é&;""‘g the lo&s ﬁunc*loﬂ

(X’Y>N,PX,Y 1S & NV,
—ﬁ(i) le v,

Z :%(1[(7(),\{) 1S & V. =
/-\/L—\
We dont know L) ELAGE,Y)

D=((R.,7), ... (X0 ) where
(BZ"’Y:’)NPX,Y and hder;(na'eml fo, 0\“

3€f|\,..)w)

2. Z.
A /T/L—\" A
L.(F) = [(ﬁ(x')'\{‘ oot [(ﬂ-in)»\("‘)

N

Zi,..,%a are also 1.1.d

(L) = LU | Var [L6) = L Var[£CAR) )




Lon s lafje CVID\A?I"

()~ LCF)
ERM: A (D)=L

3 (£, )= L(fo) 7

5c9me""n€$, 07" W'” 016/96'46/ on 7‘\/

A
Lof Now Wwé assuume L IS GJOO‘J

891[0\4/\4&2



